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Issue:  Issue:  Issue:  Issue:  

When an employee works three (3) back to back blocks of work, the third block will contain a missed punch (solid red block). 

MCtime cannot process the third block.  This is currently an open issue with the Kronos vendor. 
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Solution:  Solution:  Solution:  Solution:  

1) In MCtime, manually enter the third block as a new row into the timecard and record the appropriate Pay Code (Hours 

Worked, Leave, or for excess hours, specify Compensatory Leave or Overtime Pay).   If applicable, the appropriate shift 

differential or shift differential overtime Pay Code should also be added.  In this instance only, copy the Transfer Code (Ctrl C) 

and Paste (Ctrl V). 

2) Delete only the Transfer Code before the red block and save.  This will delete the red block.  

3) Save your changes. 

4) If you have any questions,  please send an email to the TeleStaff Management Team.  
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